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AREA X CDE – AG MECHANICS

MACHINERY AND EQUIPMENT SYSTEM

8000 SERIES JOHN DEERE GRAIN DRILL

30 POINTS

INTRODUCTION:

This portion of the event will include identification of parts, function of parts, and problems related to field capacity.  You are to work alone.  Do not visit with other contestants during this exercise.  Your group leader will disqualify you in this event if talking occurs with other contestants.  You may approach the grain drill during your time limit to answer questions pertaining to the grain drill.  Other information will be provided accordingly.  You have approximately 18 minutes to complete this exercise.  Once completed, turn in your sheets to your group leader.  Remain in this station area until time is called before moving to the next station.  Be sure to print your name, school and school number on this skill sheet.
Part I:  Identification of parts 






     Points Earned


1. _____________________________________________________________ (1 pts)


2. ______________________________________________________________(1 pts)


3. ______________________________________________________________(1 pts)


4. ______________________________________________________________(1 pts)


5. ______________________________________________________________(1 pts)

Part II:  Function of parts

A. _______________________________________________________________

_______________________________________________________________

​​​​​​​​​​​​​​​​​​​​​​_______________________________________________________________(2 pts)

B. _______________________________________________________________

_______________________________________________________________


________________________________________________________________(2 pts)

Part III:  Questions & Problems (Refer to information given)

1. Feed shaft speed is determined by the position of gears and number of teeth on each.  In what speed was this machine set at factory?   Circle one.  
EXTRA SLOW SPEED

SLOW SPEED

FAST SPEED                             (2 pts)

2. Refer to chart (A), what is the box capacity in pounds for this particular 

grain drill?                                                  ____________________________(2 pts)


3.  What is the grain feed shaft shifter set at?   ______________________________(1 pt)


4.  Are both feed shaft shifter set the same?   
   YES          NO                        (1 pt)

5.  What would be the outcome if the setting of the shifter were different?

     
__________________________________________________________________



___________________________________________________________________(1 pt)


6.   Is this a fluted feed drill or a double-run drill?  ___________________________(1 pt)

7.  Refer to chart B and the tire(taken off), what factor should one 

     use to multiple in order to obtain accuracy in seeding?  ____________________(1 pt 


7.   Determine the field capacity of this grain drill when it is pulled at the rate of 5 MPH on smooth ground.  Refer to chart for drilling width.

TC = theoretical field capacity

   S = field speed

   W=effective width of strip

   C= a constant (8.25) (43560/5280)   Acres/hr =
____________________________(3 pts)


8.  How many acres are planted in a 7-hour day? _____________________________(3 pts)

9.  This grain drill is set to sow wheat at a rate of 100 lbs per acre.  The hopper is filled and the land measuring device is set at zero.  After sowing for some time the drill is stopped.  The land measure indicates 5 acres have been sown.  To fill the seed hopper, 475 lbs are required.  


A.  Is the drill sowing light or heavy?
________________________________(2 pts)


B. What is the error in percent?           ______________________________(2 pts)

10.  How many pounds of seed are planted if this drill operated at 5 MPH

       if the field efficiency were estimated at 70%?







_____________________________(2pts)

